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The questions are based on a short passage. Read the passage below to answer
the questions. Choose the correct answer from the four listed choices.

Rakesh was the first son in the family to receive an education, so much had
been sacrificed in order to send him to school and then medical college, and at

last the fruits of their sacrifice had arrived, golden-and glorious.

And that was only the beginning, the first step in a great, sweeping ascent to
the radiant heights of fame and fortune. The thesis he wrote for his M.D.
brought Rakesh still greater glory, if only in select medical circles. He won a
scholarship. He went to the U.S.A. (that was what his father learnt to call it and
taught the whole family to say = not America, which was what the ignorant
neighbours called it, but with a grand familiarity, ‘the U.S.A.’) where he
pursued his career in the most prestigious of all hospitals and won encomiums
from his American colleagues which were relayed to his admiring and glowing
family.

What was more, he came back, he actually returned to that small yellow house
in the once-new but increasingly shabby colony, right at the end of the road
where the rubbish vans tipped out their stinking contents for pigs to nose in
and rag-pickers to build their shacks on, all steaming and smoking just outside
the neat wire fences and well-tended gardens. To this Rakesh returned and the
first thing he did on entering the house was to slip out of the embraces of his

" sisters and brothers and bow down and touch his father’s feet.
HSSﬂgE:

Question ID: 12011
Topic Name:SECTION-I English Language

Question: From the passage, we can deduce that the phrase “that was only the
beginning” refers to Rakesh

A writing a thesis and getting a job in a company
B bowing down and touching his father’s feet

C returning to his humble home

‘
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D completing school and medical college education successfully Correct Answer

Answer Given By Candidate:D

Question 1D:12012
Topic Name:SECTION-1 English Language

Question: From the context of the passage the word “encomiums” means

A Praises Correct Answer

=~}

Criticisms

0

Sarcasm

D Ridicule

Answer Given By Candidate:B

Question ID: 12013

Topic Name:SECTION-I English Language

Question: According to the passage, Rakesh was:
A very successful and very haughty

B very successful yet very humble Correct Answer

@)

unsuccessful and very proud
D unsuccessful yet very humble

Answer Given By Candidate:C

Question 1D:12014
Topic Name:SECTION-I English Language
Question: Se|ect the correct synonym of “HILARIOUS”.

A Sad

B Tragic

@]

Entertaining Correct Answer
D Boring
Answer Given By Candidate:B

Question ID:12015
Topic Name:SECTION-1 English Language

Question: Se|ect the correct synonym of “Distant”.

A Close
B Spoil
C Near

D |
Far Correct Answer

‘
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Answer Given By Candidate:C

Question ID:12016
Topic Name:SECTION-I English Language

Question: Galact the correct antonym of “INDUSTRIOUS”.
A Lazy Correct Answer

B Smart

C Late

D Stale

Answer Given By Candidate:Not Attempted

Question ID:12017
Topic Name:SECTION-I English Language

Question: Chppse the correct meaning of the idiom, “As fit as Fiddle”.

A Fit but Fat

=]

Fit and well Correct Answer

(o}

Very Weak

=]

Takes shortcuts

Answer Given By Candidate: A

Question ID:12018
Topic Name:SECTION-I English Language

Question: Chopse the correct meaning of the idiom, “A red letter day”.

-

A very bad day

=]

Avery dangerous day

5]

Valentine’s day

D A very important day

Correct Answer

Answer Given By Candidate: B

Question ID:12019
Topic Name:SECTION-I English Language

Question: Complete the sentence using the correct article.

many crops are grown in red soil.
A A
B An
C The
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D No article Required Correct Answer

Answer Given By Candidate:D

Question ID:120110
Topic Name:SECTION-I English Language

Question: Complete the sentence using the correct preposition.

Tagore is popular  Indian readers.
A with Correct Answer
B off
C On
D Under

Answer Given By Candidate:D

Question ID:120111
Topic Name:SECTION-I Education and General Awareness

Question:\where is energy of sunlight storediin green plants?

d9R 9269 9AITada 69 6960I69 I8 6Q1R2IN?

A Membranes
5

B Chloroplasts

6RCAUYRL

Cofrect Answer

C Stem
@le

D ‘Roots
690l

Answer Given By Candidate: B

Question ID:120112
Topic Name:SECTION-I Education and General Awareness
Question: National Bal Bhavan is an autonomous institution. It

comes under which Ministry of the Govt. Of India?
e ﬁﬁl VLG I YAsIde 2dgYa | 9Ll QI
dORIoE 69 FIGEIR 2RING6R 2IYR?

A Ministry of Human Resource Development Correct Answer
clge Qe SR16 FIGSlInd

B Ministry of Culture
9°98 F1g98IR
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C  Ministry of Child Welfare
616] SIS CIGEIRE

D Ministry of Education
A8 FIGEIRE

Answer Given By Candidate:C

Question 1D:120113
Topic Name:SECTION-I Education and General Awareness

Question: \ational Institute of Pharmaceutical Education and
Research (NIPER) is located in which city?

@1 Gl S8l 6 SlI6SHEl 9EWE (NIPER) 699
A6 29EE ?

A Chandigarh
oaoly

B Chennai
NI

C Hyderabad
YNG9Iy

Correct Answer

D Thiruvananthapuram
CReaeqar

Answer Given By Candidate:A

Question ID:120114
Topic Name:SECTION-I Education and General Awareness

Question: 11,0 Flection'Commission of India was established in the
year in India.

QUDEER F9IoD 2leel oden
469 QoUER2ImI |

A 1947
1947

B 1955
1955

C 1950
1950

Correct Answer

D 1942
1942

Answer Given By Candidate:Not Attempted

‘
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Question ID:120115
Topic Name:SECTION-I Education and General Awareness

Question:\n/hat s the purpose of the initiative- Manodarpan?

9 F16R19068 96N QAEREY R'6l?

A Support overall health of the child

a6 AIcge g 90ele aog

B Provide Medicines to needy students

A0S fIgRIS1T GlEd caltin F2g

Psychosocial Support for Mental Health and well being of
Students
2IeRIg1w AI93F IPY YS° FRUIG AN FIEFIAINFG ILIAS!

Correct Answer

D Provide health and well-being for the family
JaQIa IR I 6 SRIE CAITIR G2

Answer Given By Candidate:C

Question ID:120116
Topic Name:SECTION-I Reasoning
Question:Read the statements and select the best conclusion/conclusions that

follows/follow the assumptions made in the statements.

Statements:

1. InaT20 cricket match, the total runs made by ateam were 120.
2. Outof these, 60 runs were made by spinners.

Conclusions:
1. 20% of the team consists of spinners.

2. The middle order batsmen were spinners.
§q@51@9 Ueg 99° @%}@6‘6} @?JIQI@&QQI MIQQIS;[@S_—‘L QLR AQ12%
/AGLAE KRS A6QIRE] Q@I@/ﬁﬁ‘l‘&q@ﬁ? G @G|

Statements:

1. 66139 §-20 F6QY YIS 69 6915 GF 66119 QY 120 Q]
QoM
2. 6LIERIQ 60 Q] FLAENES AGRl6M

1. QR6Q 20% 9Q QEes|
2. CRIGE QUITAUIQ ISR 2l6m |
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A Only conclusion 1 follows

6097 J9I8 1 29908 998

B Both the conclusions follow

Qe J91S QL8 K98

C Only Conclusion 2 follows

6Qam dRIS 22AFUNE AR

p Neither 1 nor 2 follows
1 §ﬂ| 2 aaga@ QSQQI@ Correct Answer

Answer Given By Candidate:D

Question ID:120117
Topic Name:SECTION-I Reasoning

Question: |n @ certain code, VIJAY is written as XHLZA. How is APPLE written in
that code?

47 GEY ANIGER, F00G XHLZA 691R 6AGIKIREG | 698 J8I86R I KA
eMSlIING?

A CORKG Correct Answer
CORKG

B BOSKG
BOSKG

C BPSKG
BPSKG

D COSKG
COSKG

Answer Given By Candidate: A

Question ID:120118
Topic Name:SECTION-I Reasoning

Question:|n g certain code LENGTH is written as NIPKVL. How is VOLUME

written in that code?
q @Q‘Q( deIeeR Emg ‘Ei NIPKVL QUS6D 6mslidinelie | 698 dRIg6R @ﬁjqﬂ‘
QA RSN ?

A YXMYIO
YXMYIO

B XTMYPI
XTMYPI

C XSNYOI
XSNYOI

D YXMYOI
YXMYOI

Correct Answer

‘
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Answer Given By Candidate:Not Attempted

Question ID:120119
Topic Name:SECTION-I Reasoning
Question: Find the next term in the series below.

663, 640, 617,594, 571,548, ,502
F969 651616Q ANSEN 619 F4A fQgI

663, 640, 617, 594, 571, 548, , 502

A 530
530

B 539
539

¢ 525
525

D 512
512

Correct Answer

Answer Given By Candidate:C

Question ID: 120120
Topic Name:SECTION-I Reasoning

Question:Fill the blank with correct option.

BIP, BJP, BKQ, CLQ, CMR, CNR, DOS,
Q0% Sag 996 ¢IR QIF Fda Rag|

BIP, BJP, BKQ, CLQ, CMR, CNR; DOS,
A DPS
DPS

B DSR
DSR

¢ CRS
CRS

D DQS
DQS

Answer Given By Candidate: A

Correct Answer

Question ID:120121
Topic Name:SECTION-I Teaching Aptitude

Question: How can a teacher promote a positive classroom culture?
@66l S8R RUQ 99 ARIAULR 66l6NG)E A°Y4EeG 6T
RQIN6R?

A By criticizing students' mistakes

RALRIGT QMG AFNCRSI K9

‘
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B By punishing others
2Uella'm @6 640l

C By fostering respect, kindness, and inclusivity

9IS, Q2 99° ALUVIFAEG 61T A9

D By enforcing strict rules without flexibility
QEF1AC! G FE0IA G MIY KA

Answer Given By Candidate:A

Correct Answer

Question 1D:120122
Topic Name:SECTION-I Teaching Aptitude

Question: A interactive and welcoming environment can positively
impact engagement, help address anonymity concerns as well
as group diversity. These are a part of Life skills. Which one of
the given below is suitable to convert problems into useful
work.

4q 26IY §RIQEI 99° IS6IgY do6asl 9°gaq ARIfe KINen dRIGTE
QAAIER, 6DUFAG] T8I 99° 60l QUG!G AFRIL KA LILILY @AUER |
9|6 a @19e QRCIR 9% 2°6 266 1 LaaUIgEg adedioh KIHIen R8s @RSl
IR A6 QARG IR 679G QLD 26T |
A Rigidity and responsibility

QRE0ING! 9Q° QIS

B Flexibility and productivity
2eF1AC1 NQT Qylvael

Correct Answer

C Authoritative and Commanding
gIcIfie 9Q° Qld°

D' Commitment and Rigidity
deeae 99° @60IG!

Answer Given By Candidate:D

Question 1D: 120123
Topic Name:SECTION-I Teaching Aptitude
Question: |dentify the most appropriate option regarding teachers

action.
deaw aldy 99869 d90IR Kdd]w @ﬁh“a %‘i;“a' @olgl

A |If a plan does not work, get irritated and frustrated.
9 69169 64INg! RIF K6 G‘I'ﬂu‘., 6669 Qa8 6 QAU LS|

‘
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B |f a plan does not work, get dejected.
A% 69168 621a9! FIFl RQRIE, 6669 GG TG |

C If a plan does not work, encourage to try differently.

A3 69169 61T FIFl F6Q 1L, 6966 TG NER 69V ARG
QLILE KRG

Correct Answer

D |f a plan does not work, encourage to forget the issue.
4G 6Q169 6KIRR QIFl F6Q BIE, 6669 IE YU6Pg QNAIg
QYEE Q0G|

Answer Given By Candidate:C

Question 1D:120124
Topic Name:SECTION-I Teaching Aptitude

Question: St dents should learn to ask a few questions like
What did | learn by doing this?

Could | have done the problem in another way?
26 @R d9 A9I9R Sl ABE 649G

94 8% g 9'6 Fg@e
¢ aaguIg 294 QA6 FQATT @7

A This engages children in learning questions
gl ARIIeE 99 SSRI6R F6RIRE Q6

B This engages children in reflection process
el ANFIRG EoPRe daI60 GEAREe K69

Correct Answer

€ This engages children in content construction
gl IRIFIRE QHASY aellgea F6RlRE K6Q

D This engages children in rivalry.
gl 191 RIFIEE doTELI60 MY 2T |

Answer Given By Candidate:Not Attempted

Question ID:120125
Topic Name:SECTION-I Teaching Aptitude

Question: \Which of the following factors is an example of an external
barrier to learning?

GORYS TRAYFR FRIQ 66F Gl din QIeY JTNaa 99

QQLEI?

‘
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A Lack of interest
2igea 2ule

B Procrastination
QL

C Distractions in the learning environment
E84l IR6QE6R YRS

Correct Answer

D Lack of prior knowledge
Je RIS AN

Answer Given By Candidate:C

Question ID:120126
Topic Name:SECTION-I Teaching Aptitude
Question: Eye contact, physical gestures and slight head shake by the

teacher in a classroom are few:
651€N9LER JYaw Il 2l ‘2]"‘%1‘51, SIS QEPE IQ° dIFlIgy
¢ LMl 2P:

A Distractors in classroom
65161626 RIS

B Verbal cues
6¢1l5)e A6@6

C Nonverbal cues
261Re d6=D

Correct Answer

D All of the Above
219 (%[5

Answer Given By Candidate: D

Question ID:120127
Topic Name:SECTION-I Teaching Aptitude

Question: |dentify the main objectives of Ministry of Education:
Sl CIFIRAR (614 LERNIGER 0T FNG:

A To develop education policies and programs
A8 16 6 QIdYg9IR I1E K89l

B To implement education policies and programs
J8l MG 6 AIdugaa YRI5 a5S

C Provide financial help in the form of scholarships, loan

subsidy, etc
Q@I, ¢ 9996 QYIS 2INNNER 2R LIS dele @g

‘

WtsApp/Call- 8596976190



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

BPEIQ AA8 GF QA g4 Q9 AN

WtsApp/Call- 8596976190
Download “Tech Of World” App

D All of the Above
QAR el

Correct Answer
Answer Given By Candidate:D

Question 1D:120128
Topic Name:SECTION-I Teaching Aptitude
Question:Name an apex body responsible for quality education in state.

AURIER gEliE)R Sl IR QU ¥R 6416 °PIR QIF] QuEgl

A SCERT-State council of Education Research and teaching
NLER2IG-URY Al G686l 6 d-l dREQ

B SCERT- State council of Educational Research and training Correct Ans
AIR2IQG- QURY S8 F69EEl 6 gfgd aa¥e

C SCERT-State council of Educational Researchand tracking
YIIQ2ING-URY S19I 169948 6 FIe° dQVS

D SCERT-State council of Educational Research and testing
YIIRZING-URY -l 16984l B ANV WS

Answer Given By Candidate:B

Question 1D:120129
Topic Name:SECTION-I Teaching Aptitude

Question:Examinations are the only type of assessment that matter, that

gives information to the teachers about their learning.
dndl 68208 IRAIC I gaulae, AIT] SSKaIgs
69T SN6 VAR YOI 69R2AN |

A The statement is true.

Examinations test the cognitive ability of children and gives
apt information.

¢ Q@ O
dUA ARIFISTR RIQ VES! AN R QLIS oK
cQmelN |

B The statement is not correct.

Examinations are only way that provides teachers more
information about students learning.

@@ 0 g6<1

AUY 62Q& IRFIS QI Il JRRIeT BICRISIE SV
QUAER 2@ 4TI ILUT F6Q |

‘
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C The statement is true.

Examinations are the only timely measure to check the
learning and skill abilities of children.

9€ @ 0F |
dmls G961 99° Q8o dIF 999! din Al 6898 99l
geleglaeslion Qi |

D The statement is not correct.

Examinations are not the only type of assessment that matter,
that gives information to the teachers

ddl 69em Ia 9l Fimilas @6@&, ALl FIAK0I0G 91 69m2ld

Correct Answer

Answer Given By Candidate:Not Attempted

Question ID:120130

Topic Name:SECTION-I Teaching Aptitude

Question: A pedagogy which is an art of bringing together audio, images,
and text to share information on a specific topic.

4G SAIQIE FIE 99 TGS TG RU6R oG 2°HNRIR ARG

IR 266, 58 99° 6997 4 IR0 KRR 9% KR 26T |

A Traditional Lecture based Learning

ARG 9Rge! Qaq Sl

B Digital Storytelling
PEoIMm K1Ll8N

C Flipped Learning
QR 6LINRIQ! Gl

Correct Answer

D Puppet show
REAN gasia

Answer Given By Candidate: A

Question ID:120131
Topic Name:SECTION-II Odia Language

Question: SAIYR SR 19T [E] ?
A 66RO

B GO0 oseiAnswes

c 69le

> 6ol

‘

Join Us-



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Join Us-

BPEIQ AA8 GF QA g4 Q9 AN

Download “Tech Of World” App

Answer Given By Candidate: A

Question ID:120132
Topic Name:SECTION-II Odia Language
Question:

63628@ 9 UIR 609 2T 0 ?

A

Qglala B AISFR AIee AR AT FF 99 |

* QITIR 6QER 6RIER RS B2 €1 |

¢ 6R9R AAUMNQ AT 7R 49 2l 632 WUER
Asia |

JRONE, SRR, U198, 9a1 6 ReAURQ 21TYR| &R
€8 27 BE2 UNER G |

Answer Given By Candidate:C

Question ID:120133
Topic Name:SECTION-II Odia Language

Question: ‘@E;f ra qﬁ' é]Q@ 9'61?
* e A

b @

¢ geal

* /6

Answer Given By Candidate:B

Question ID:120134
Topic Name:SECTION-II Odia Language

Question: 21" Q AENE 1] QeIQ2Ql 18T @'&1?
A 2R

® Qg Correct Answer

© 6]uIel

P aw

Answer Given By Candidate:B

Question ID:120135
Topic Name:SECTION-II Odia Language
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Question: eIV FRIQ ‘A’ Q CERE @'6l 68972
A 2RO, Correct Answer

AN

¢ Qe

> of

Answer Given By Candidate:A

Question ID:120136
Topic Name:SECTION-II Odia Language

TIORE, ARG, QYR 999 696 999 AAIRIE 6RRIA €197
‘R

"9

S Bonroikfianes

" ggq

Answer Given By Candidate:C

Question ID: 120137
Topic Name:SECTION-II Odia Language
Question:

260 A6 JANIRRE, 651 960 AR PR 6L - OB FRYTER Y6LS
621N Q@ (962 AR FEER 6828) Q 22 [

* 2Agug 998 K%l
B QI 6915 QY 89!
€ 691N Q2Ig QIAAUR YFIRQ]  Correct Answer

D &l QA

Answer Given By Candidate:C

Question ID:120138
Topic Name:SECTION-II Odia Language

Qustion: 0161 GG 6TRI'D ERAIFIEE '€l 6897
A Q% lYm 65169 RS Correct Answer
P OGe @S
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¢ QPR AR AU6R ILIA QS|
P Q@ F¢ 6LIRDS

Answer Given By Candidate: A

Question ID:120139
Topic Name:SECTION-II Odia Language

Question Qe ARJQN" 2 @' 617

A RERESQ

b Q] 6QQl

€ AT 9g< AQR

P g@esII 699l Correct Answer

Answer Given By Candidate:D

Question ID:120140
Topic Name:SECTION-II Odia Language

Question: coQd A6EIT 2R ?

f\ G-?
B Q.
g Correct Answer
D ¢

Answer Given By Candidate:D

Question 1D:120141
Topic Name:SECTION-II Odia Language

Question: coAPRIT R ?
Ag
R g
€ B Correct Answer
D g

Answer Given By Candidate:C

Question 1D:120142
Topic Name:SECTION-1I Odia Language

Question: caQe 26 eradyf ?

B @ Correct Answer
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£ g
D &

Answer Given By Candidate:Not Attempted

Question 1D: 120143
Topic Name:SECTION-II Odia Language

Question: uoniaq” FEATSIA 6N QO AATS ARl
A eqle Correct Answer

B gglee

C aqea

D gpleq

Answer Given By Candidate:B

Question ID:120144
Topic Name:SECTION-1I Odia Language

Question: agil @ SEll QIR 619 AN @61 241 6RGITE TR TR ERE FE6IRY ?
A QIGQlIoR

B QaRiee

€ ggeioq Correct Answer

D oraiQioe

Answer Given By Candidate:C

Question ID:120145
Topic Name:SECTION-1I Odia Language

Question: SooIQRIIG U966 A1 6Q6IFE T0a Feday gaaa ?

-

MNBINR Correct Answer

==

RGO
€ o9

D BRI

Answer Given By Candidate:D

Question ID:120191
Topic Name:SECTION-II Mathematics

Question: A herson incurs a loss of 20% by selling a watch for Rs. 2400. What was its cost

price?

2400 SRIER GG TF AR W66l FYS 20% T TG | ILIN FIMY 6R6E YMI?

‘
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A Rs 2000
Rs 2000

B Rs 2400
Rs 2400

C Rs 3000
Rs 3000

Correct Answer

D Rs 3200
Rs 3200

Answer Given By Candidate:D

Question 1D:120192
Topic Name:SECTION-II Mathematics

Question: Reenga invested one part of her Rs. 25,000 at 10% per year and the other
part at 12% per year both in simple interest. Both the investments are for
one year. Her income from the two investments was Rs.2800. How much
did she invest in each part of her investment?

NG| Sl 25,000 FFIG 66159 QT TR 10% 99° A1 KFG AT 12%
69 Qe dam l6n SF6aIT atilem | avw §694 69T e ain
*oReM | AT FEEIQ Sl 2k M 2800 Tl | 6961 FEREIRN
J66UR QITIER 6966 SF6LIT Alem?

A Rs.13000, Rs.12000
Rs.13000, Rs.12000

B Rs.8000, Rs.17000
Rs.8000, Rs.17000

C Rs.10,000, Rs.15,000
Rs.10,000, Rs.15,000

Correct Answer

D Rs.18,000, Rs.7000
Rs.18,000, Rs:7000

Answer Given By Candidate:Not Attempted

Question ID:120193
Topic Name:SECTION-II Mathematics

Question: A'person invests Rs 20000 for two years at a certain rate of interest,
compounded annually. At the end of one year this sum amounts to Rs. 22400.
Calculate the amount at the end of second year.

@66 9@ QIdF 98 FEY 9N 21962 R 9 Ui 20000 SR F69E KOG |
69159 98 69869 92 AQCIE 22400 T 69 ILER | §616 9 66960 9T
AReNE 9651 0G|

A Rs 25088 Correct Answer
Rs 25088

B Rs 24800
Rs 24800

C Rs 25800
Rs 25800
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D Rs 24088
Rs 24088

Answer Given By Candidate:B

Question ID:120194
Topic Name:SECTION-II Mathematics

Question: The |CM and HCF of two numbers are 126 and 9 respectively. If one of the
numbers is 63, what is the other?

GG LoSMIR Lem 99° Her KIRIIGEE! 126 Q° 91 A& 65115 €°61l 63,
AT @€l

A 135
135

B 64
64

C 18
18

Correct Answer

D 1134
1134

Answer Given By Candidate:C

Question ID:120195
Topic Name:SECTION-II Mathematics
Question: Find the mean proportional between 60% of 10 and 50% of 108,

10 @ 60% 92° 108 & 50% FRIER LINLIR AAIGAIRT FeleL 2ag

A 16
16

B 13
18

¢ Correct Answer
21

D 20
20

Answer Given By Candidate:Not Attempted

Question ID:120196

Topic Name:SECTION-II Mathematics

Question: The ratio between two numbers is 3:4. If the first number is increased by 40%
and the second number is increased by 50%, find the new ratio between the

two numbers.
4161‘3‘ g6l ¢lkleQ agdle L& 3:4 | AT gaE 9°5IUl 40% 99° F1e, DSl
50% 98 QQUCN, 6969 RE °HUI ARIERA GO AGAIS Fda aag

A 10:9
10:9

‘
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B 10:11
10:11

C 43
4:3

D 7:10

Correct Answer
7:10

Answer Given By Candidate:C

Question ID:120197

Topic Name:SECTION-II Mathematics

Question:

A straight line touching the circumference of a circle at a point but not entering it is:

47 G962 909 A5G 94 KRSl Fg 98l B8ag U6SH RIS IR A9R
69%ll 62R&:

A Chord
@l @yl

B Median
clelell

C  Altitude
Lol

D Tangent

qsiq

Answer Given By Candidate:D

Correct Answer

Question ID:120198
Topic Name:SECTION-1I Mathematics

Question: 1\y4 Jines that never intersect and are always the same distance apart are called:

COG 68l Tl 6963 T 689 §9 AIF 9° 999! AelIe GRBIER AN SILIG
QEICI:

A |ntersecting lines
ge6Ra1 6l

B Parallel lines

IS 600l

C Perpendicular lines
m& 6%l

Correct Answer

D Transversal lines

6RYa 6l

Answer Given By Candidate: A

‘
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Question ID:120199
Topic Name:SECTION-1I Mathematics

Question: A Jine that divides a line segment into two equal parts is called a:

99 6981l L 99 954 6QsIHE] 9RF AFIF NUNEA TS K6 GILIg
QRICN:

A Bisector

AqgoIaa

B Perpendicular
mey

C Median
clelell

D Altitude
(LN

Answer Given By Candidate: A

Correct Answer

Question ID:1201100
Topic Name:SECTION-II Mathematics

Question: \wrhich of the following is true about a system of linear equations with no solution?

FIMGS FRIQ 699F 69144 QARG 21 6TYF ANFAE LY VAR
aey?

A The equations are inconsistent Coitect A

ARSI R ALGFS 26T

B The equations are dependent
EIﬂN?Slé‘lSl@G? g6y 26

C “The equations are consistent
‘21911&]“8161%1@9? della 269

D None of the above '
QAUEAUD F1RIQ 6QIETT Q6%

Answer Given By Candidate:D

Question ID:1201101
Topic Name:SECTION-II Mathematics

Question:\Which of the following is not a type of solution for a system of linear equations?

GRS FRIQ 69916 6569 NI 98 EIRT IR I8 IR AERIIG G6L?

A Unique solution

ALY 4elRia

‘
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B No solution

61618 ARG FIE

C Infinitely many solutions

Ada'ees 2deaa dellIq

D Quadratic solution
Qg dellIE

Correct Answer
Answer Given By Candidate:D

Question 1D: 1201102
Topic Name:SECTION-II Mathematics

Question: \What is the intersection of {1, 2, 3}and {2, 3, 4, 5}?
{1,2,3}499° {2, 3, 4, 5} Q OB 623G Q'4I?

A {1,2,3,4,5}
{1,2,3,4,5}

B 2.3} ‘ B
{2, 3} Correct Answer
€ {1,2,4}
{1,2,4}
D {1,3,4,5}
{1,3,4,5}

Answer Given By Candidate:B

Question ID:1201103
Topic Name:SECTION-II1 Mathematics

Question: \which of the following is a set of prime numbers?
PINGE CRIY 699G 6£1RAT QTR 99 64Q 269"?
A {3,5,7,9,11)

{3,5,7,9, 11}

B (3,5,7,11}
{3,5,7, 11}

C {2,3,4,5)
{2.? 3’ 4l 5}

Correct Answer

D §1.2.3}
1,2, 3)

Answer Given By Candidate: A

Question 1D:1201104
Topic Name: SECTION-II Mathematics
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Question: \What is the square root of 1962

196 Q 96l € 6260 6897?

A 14 Correct Answer
14

ol
13

C 15
15

D 12
12

Answer Given By Candidate: A

Question ID: 1201105
Topic Name:SECTION-II Mathematics

Question: \phat is the square of 2x*?

2x* Q YUEJR 6968 6297
A Ax
4x

B 8x
8x

C ax*
4x*

Correct Answer

D 8x?
8x?

Answer Given By Candidate: A

Question ID:1201106
Topic Name:SECTION-II Social Science

Question: Byland Darwaza was built by whom?

9RE QAR FIE FIN 56 6LIRARMI?

A Humayun

geliga

B Babar
Qa9

C Akbar
AR

Correct Answer

WtsApp/Call- 8596976190
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D Aurangzeb
GEreas

Answer Given By Candidate:D

Question 1D: 1201107
Topic Name:SECTION-II Social Science

Question: Which of the following vedic God is known as
“Vritrahanta”?

CIRYS FRIQ 69L 6567 DINING "9eL8" GLIAN?

A Varun

aRé

B Indra Correct Answer

)

C Rudra

g

D Soma

64I¢l

Answer Given By Candidate: A

Question 1D:1201108
Topic Name:SECTION-II Social Science
Question: |n which place, the Provisional Government of independent

India (Azad Hind) was formed by Subhas Chandra Bose?

JRIE AUIASR AYIN ARRIR (RIS TR) 69Q LN
JeId oF 6919w FIRI G106 6WIR2YMI?

A Rome

69UE]

B Tokyo
6016

C  Singapore
AP

Correct Answer
D Berlin
-
me

Answer Given By Candidate:D

Question ID: 1201109
Topic Name:SECTION-II Social Science

WtsApp/Call- 8596976190
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Question: The Muslim League Council proclaimed 16th August 1946 as
in order to accentuate their demand for a separate
Muslim homeland after the British left the Indian
subcontinent.

GoECIen QUINGIA QUALIERE RITSI J6R 99 ARG
FOREIS 694l IR 6IFIRR QTG 6RINGIA ARSI IR
FJAREl Ao ARGTR €9 AR 1946 § RUFER
cAISEl SRR |

A Independence Day
qrRIRe! 894

B Direct Action Day
geus qidy Geg

Correct Answer

C  Separation Demand Day
QRS QIR Geg

D March Day
g Qg

Answer Given By Candidate:C

Question ID: 1201110
Topic Name:SECTION-II Social Science
Question: Which article of the Indian Constitution states that “The

State shall endeavor to secure forthe citizens a uniform civil
code throughout the territory of India”?

RUABI SARUFN 69K Ag6BER ﬁlﬁl@lag 65l "AUY

QUASD Cf1g 28R6R QORI din 98 dFIS QIooe

A°Ee| qaﬁe Q@Qlﬁi g @QQ"?

A Article 40
gl 40

B Article 44
gl 24

C  Article 30
diall 30

Correct Answer

D Article 14
IR 14

Answer Given By Candidate: B

Question ID:1201111

Topic Name:SECTION-II Social Science

Question: \Whgo was the Prime Minister when Fundamental Duties
were added to the Indian constitution?

6I60696R NS AAIFER 65178 F6I9Y 6AIGITIR
69686960 QTG 9 26m?

‘
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A Jawaharlal Nehru

RELIARIR 6R6EQ

B Lalbahadur Sastri
MIMYILIY0 sl

C Indira Gandhi
Qe SIS

Correct Answer

D Atal Bihari Vajpayee
A9'R TLIN URCAN

Answer Given By Candidate: A

Question ID:1201112

Topic Name:SECTION-II Social Science

Question: Which article of the Indian constitution prescribes that there
must be one high court for each state?

BIGB1L AARUGR 699 dINIER IE AURY AR 6TT
6meiN QB QUAIRG QES 2ISEYR?

A Article 212
AIg 212

B Article 214
Aol 214

C  Article 216
gl 216

D Article 218
Aol 218

Correct Answer

Answer Given By Candidate:Not Attempted

Question ID: 1201113
Topic Name:SECTION-II Social Science

Question: The quorum for joint sitting of the Indian Parliament is:

QAL 2°AR FRE 2RIEINTR 490 QUYL 6LRE:

A 1/10th of the total number of the house.
9aol eI LoD 1/10%U%! |

Correct Answer

B 1/5th of the total number of the house.
Qa0 dE]Ql1P D°oHIR 1/5 WUl |

C  1/20th of the total number of the house.
e D)1 D°9MIR 1/20 W |

D 172 of the total number of the house.
Lol D)< leh L°6MIRN 1/2 QY |

Answer Given By Candidate:Not Attempted

‘
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Question ID:1201114
Topic Name:SECTION-II Social Science

Question: Who is the speaker of Lok Sabha as of 12.5.2023?
12.5.2023 81 6QIQLLIAQ Q996 @9 29G?

A Shri Om Birla
81 B¢ Sl

Correct Answer

B Piyush Goyal
G@ﬂ 6ollhn

C  Utpal Kumar Singh
Ldm Qtliol QR

D Sumitra Mahajan
gael ALIee

Answer Given By Candidate:D

Question ID:1201115
Topic Name:SECTION-II Social Science
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Question: Consider the following statements:
1. Tropical cyclones have circular isobars.

2. Tropical cyclones originate entirely within the tropical air

mass.

3. The intensity and magnitude of hurricanes generally exceed
those of typhoons.

4. Tropical cyclones are more destructive than the western

disturbances.

Select the correct answer by using the following codes

GaRge §95gea GoIa fag:
1. QYT OF FZIIBYIR 6SIRIRIN AFIE 6QSNER 2N |

2. A9aT 9F (1219104 9414 Q69 QYT a8 Qg1 me
AQle] 116 QAYG, 6LIRIN |

3. QIGUIR V1921 @ 1961 ARIIEISS SRS OIR 2R]e
oLImelN |

4. 8¢ G6RIRN SRAI6A QYT QR C1QIQIGYI 2D
SRR |

QEMEIE 6912 gEa ULIN 95 0] Q@9 SUE K9G

A 1,2and4
1,2499°4

Correct Answer

B 1only
1699W

C 2and3
299°3
D 3and4
39Q°4

Answer Given By Candidate: B

Question ID:1201116
Topic Name:SECTION-II Social Science
Question: \Which instrument measures atmospheric humidity?

606 96 QYR 2SS FIT RER?

‘
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A Hygrometer

QIR6LINTQ

Correct Answer

B Anemometer

G6eIfeR

C Ammeter

(el

D Hydrometer
LRELITITR

Answer Given By Candidate:D

Question ID:1201117
Topic Name:SECTION-II Social Science

Question: An example of non-polluting renewable type of energy is:

26-g9FERA 2V SRR 9@ AQULAS 6LAR:

A Fuel energy
QOG S8

B Electricity energy
q9Ye 69

€ Solar energy
64 619

Correct Answer

D Gas energy
quIg 19

Answer Given By Candidate:C

Question ID:1201118
Topic Name:SECTION-II Social Science

Question: Energy generated by a hydroelectric power plant is what
type of energy?

90 RRTQYS 98 668 IR AYTS I8 694 dRIAR 51D

aeg?

A Non-polluting and non-renewable
2lEl-JYVERIRN IS 2I6l-@MAASIGLIGIY

B Polluting and non-renewable

JYFEIRIN Y9° 26l-01aNEI6LI0NY

€ Non-polluting and renewable
2l6l-dYHelqloll 99° @1a06I6AIo Correct Answer
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https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Join Us-

BPEIQ AA8 GF QA g4 Q9 AN

WtsApp/Call- 8596976190
Download “Tech Of World” App

D Polluting and renewable
d96aI91 99° @MaEI6LIG!Y

Answer Given By Candidate:D

Question ID:1201119
Topic Name:SECTION-II Social Science

Question: \Which layer of earth has the highest density and believed to
contain heavy minerals?

J2la1%! 699 964 Q@I(\,.Iﬁ? Q06! 2R 9Q° 2l Ll I8

aQl?] 218 691m SgI9 YQULN?

A Mantle
LYYy
B Crust

A

C Inner Core

USRNSSR

Correct Answer

D Quter Core

QLY AN

Answer Given By Candidate:C

Question ID:1201120
Topic Name:SECTION-II Social Science

Question: \Whjch of the following pairs is correctly matched?

GIRGS IR 698 64IE 0% RIFER 6617 FIGR?

A 66° 30" N latitude —Antarctic Circle
66° 30’ N 2I8I°¢l — Q@/él 661Q 9@

B 180°E or 180°W longitude- International Date Line
180°E or 180°W 6QGII°4l- 22HIS12 S2MISR1 66l

Correct Answer

C 23° 30’ N latitude — Tropic of Capricorn
23° 30" N 2l8I°sl - ¢199 69151

D 0°E or 0°W longitude — Equator
0° E or 0°W 6Q%1I°6l — @ﬂ@ 6%l

Answer Given By Candidate:D

Question 1D:1201121
Topic Name:SECTION-II Science

‘
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Question: ywhich state of matter exists at extremely high temperature and consists of
ionized gas particles?

AQ1da 699 Qg AGYS Q6 SITLIZIER AR 1.° g2le ﬂlSﬂlﬁﬁ‘,@

o9 @8l 9882

A Plasma

eqld

Correct Answer

B Solid
Wy

C  Liquid
ey

D Bose-Einstein condensate
691H-ZING YNNG K626

Answer Given By Candidate:C

Question ID:1201122
Topic Name:SECTION-IT Science

Question: The property of metal by virtue of which it can be drawn into wires is

known as:

digal gl L] 19U 9Ll LI 268e FAUARAIRS 1L qEldng:

A Malleability
Qela1as|

B Ductility

Qaug| Correct Answer

C  Solubility
Qeanae|

D Viscosity
sHIE G

Answer Given By Candidate: B

Question 1D:1201123
Topic Name:SECTION-II Science
Question: \Which law states that at constant temperature, the product of pressure and

volume of a given amount of a gas is constant?
69 FAA6 ﬁi@!ﬂl@@ 64 T80 SIUAIgIER, 99 @@“Q A/CNEIR
YA FIY 4S° ALCNER 1249 |\ da ag?

A Gay-Lussac’s law

69-paIew Fac

B Charles’ law

oImg Faf
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C Boyle’s law

S (¥a(al=gaola)

Correct Answer

D Avogadro's law

2leRSNEE] FLAe!

Answer Given By Candidate:C

Question ID:1201124
Topic Name:SECTION-II Science

Question: \yhich one of the following reactions is a balanced reaction?
IS JPTA FRIQ 696T IR AgRE ASGA 2657

A Co(s) + H,S0,(aq) — CoS0,4(aq) + H,(g)
Co(s) + H,S0,(aq) — CoS0,(aq) + H,(g)

Correct Answer

B Co(s) + Cl(g) — CoCl(g)
Co(s) + Cl(g) — CoCl(g)

C  Co(s) + CI(g) — CoCl,(s)
Co(s) + Cl(g) — CoCl,(s)

D Co(s) + 0,(g) — Co0,(s)
Co(s) + 0,(g) — Co0,(s)

Answer Given By Candidate:Not Attempted

Question ID:1201125
Topic Name:SECTION-II Science

Question: \which one of the following is a displacement reaction?
FINYE AU 6960 9@ FRITS AT 2667
A HBr(aq)+ KOH(aq) — KBr(aq) + H,0(l)
HBr(aq) + KOH(aq) — KBr(aq) + H,0(l)
Light
2H,03(1) — 2H,0(1) + 0,(g9)
Light
2H,0,(1) — 2H,0(1) + 0:(g)

C  2Ca(s) + 0,(g) — 2Ca0(s)
2Ca(s) + 0,(g) — 2Ca0(s)

D Mg(s)+ PbCl,(aq)

— MgCl,(aq) + Pb(s) Correct Answer
Mg(s) + PbCl,(aq)

— MgCl,(aq) + Pb(s)

Answer Given By Candidate:Not Attempted

Question ID: 1201126
Topic Name:SECTION-II Science
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Question: Renu is carrying a school bag of mass 2 kg on her back and walks 100m on a
leveled road. If the value of g be 10m/s?, the work done by Renu against

the gravitational force will be:
6] Q069 2 kg BRAQ 4] g QI AR 9] R AULIERX 100m
SIMCIm JIRR8| 9% g ¢mY 10m/s*gd, 696S aricds o @@@661
69 @ FI9 FULIRNAS! KUY 629

A "
of Correct Answer
0J
B 2000/
20007
C 0g)
0.6]
D ¢f
6]

Answer Given By Candidate:Not Attempted

Question ID:1201127
Topic Name:SECTION-II Science

Question:The 5| unit of energy is
43 51 H5T 6208

A Watt
a9

B Joule

6GlIm

Correct: Answer

C Erg

!

D Pascal
dI4RUm

Answer Given By Candidate: A

Question ID:1201128
Topic Name:SECTION-II Science
Question: Dimensions of acceleration are

LOEN UBFIY gER 6L |

A MOLT?
MOLT2

Correct Answer
B MOLT!
MOLT?

C MO/T?
MOL/T2
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D MO /T?
Mo/t

Answer Given By Candidate: A

Question ID:1201129
Topic Name:SECTION-II Science
Question: digest cellular macromolecules.

CpMIR F1L12E] LREl @6 |

A Chromosomes
Qg%

B Endoplasmic Reticulum

AR FIRG

C  Golgi Apparatus
69lmoll QUARE

D Lysosomes

SRAIeg

Correct Answer
Answer Given By Candidate:B

Question ID:1201130
Topic Name:SECTION-II Science
Question: Which of the following statements is true about animal cells and plant

cells?

diéN 6918 49° QBT 6719 FUACH FAMYS FRIR 696 T ALY 26T

A Animal cells are generally bigger than plant cells

diél 6918 gEe RINEIES Q@< 6RI80IQ 9¢ 6RIR2N

B Animal cells have chloroplasts

WIS 6RN1VER CRICUY T 21

C Centrioles are absent from the cells of higher plants
LT olR9 R IR 69§06m Hﬁﬂg@ 2

Correct Answer
D Plant cells do not have ribosomes

QRQ 6RIVER QAURCIIERIE F2UIg

Answer Given By Candidate:D

Question ID;1201131
Topic Name:SECTION-II Science

Question: \what do you mean by morphological characteristics of plants?

S8R QUSIE 6TFYUG 28 X6 §XARE?

A External structure of plants

ARA |ILY S0

Correct Answer

‘
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B Internal structure of plants

IR0 2lYaNE 0w

C Both internal and external structure of plants

o120 Qe ANYsNE B LY JI0R

D Conditions required for the growth of plants
J8x 98 AR 2I9aus 9286

Answer Given By Candidate: A

Question 1D:1201132
Topic Name:SECTION-II Science

Question: Transpiration does not take place in .

69 96990 29 I

A Xerophytes
fdied

B Mesophytes
a[otaln
C Submerged hydrophytes

o = Correct Answer
Qelge wemlwe
D Floating hydrophytes

QLD FERING

Answer Given By Candidate:B

Question ID:1201133
Topic Name:SECTION-II Science

Question: The water from the soil is chiefly absorbed by

TR B FoNeS FIoU 66186 g9

A root hairs

699 6qsl

Correct Answer

B root cap
600 @YId

C root apex

699 26ag

D root tip
659 §d

Answer Given By Candidate: A

Question ID: 1201134
Topic Name:SECTION-II Science
Question: | gjshmania donovani causes

MG 6RI6FIRUM RIS
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A Sleeping sickness

69lImel 6!

B Kala azar

alml 2RI

Correct Answer

C Malaria
cuem2

D Dengue

600

Answer Given By Candidate: A

Question ID:1201135
Topic Name:SECTION-II Science

Question: aApaerobic respiration in yeast takes place in

AYEA 2FENTR GG 69 6LIm2IN |

A vacuole

oEdllan

B mitochondria

aiResIagell

C cytoplasm
6T

Correct Answer

D chloroplast
Q@Q mea

Answer Given By Candidate:D
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